
Scientific Notation (I)Convert each number from scientific notation to an ordinary number.
1.899 × 10⁵ = 9.959 × 10⁶ =
5.43 × 10⁶ = 1.957 × 10⁵ =
7.5 × 10⁵ = 6.34 × 10⁴ =

3.79 × 10⁴ = 5.9 × 10⁷ =
8.25 × 10⁸ = 7.7 × 10⁷ =

3.756 × 10⁷ = 2.96 × 10⁴ =
3.59 × 10⁵ = 3.35 × 10⁴ =
5.8 × 10⁵ = 9.87 × 10⁷ =

7.532 × 10⁷ = 1.9 × 10⁸ =
9.8 × 10⁸ = 1.4 × 10³ =
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Scientific Notation (I) AnswersConvert each number from scientific notation to an ordinary number.
1.899 × 10⁵ = 189,900 9.959 × 10⁶ = 9,959,000
5.43 × 10⁶ = 5,430,000 1.957 × 10⁵ = 195,700
7.5 × 10⁵ = 750,000 6.34 × 10⁴ = 63,400

3.79 × 10⁴ = 37,900 5.9 × 10⁷ = 59,000,000
8.25 × 10⁸ = 825,000,000 7.7 × 10⁷ = 77,000,000

3.756 × 10⁷ = 37,560,000 2.96 × 10⁴ = 29,600
3.59 × 10⁵ = 359,000 3.35 × 10⁴ = 33,500
5.8 × 10⁵ = 580,000 9.87 × 10⁷ = 98,700,000

7.532 × 10⁷ = 75,320,000 1.9 × 10⁸ = 190,000,000
9.8 × 10⁸ = 980,000,000 1.4 × 10³ = 1,400
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